Graph the system of equations.

1. px+y=8
y=3x-4
2. px+y=4
y=3x—-8
3. Ax+y=-2
y=2x-8
4. px+y=1
y=3x-11
5. @x+y=6
y=3Xx—-6
6. Ax+y=-3
y=2x-9
7. @X+y=5
y=3x-7
8. Ax+y=7
y=3x-5
9. Ax+y=-1
y=2Xx-7



Graph the system of equations.

10. @ax+y=1
y=2Xx-5

11. @3x=5y+19

3y=5x-21

?
12. $3x =5y-23
13 ?
14. $4x =5y—11
15.
16.

17.

18.



Which of the following ordered pairsis a solution of the system?

19. p-10x-4y=-1
SX+9y=4

[A] ) o1 05 [B] los, —od]




Which of the following ordered pairsis a solution of the system?

20. p5x+y=3
4x-3y=6

[A] )09, o8] [B] los, -09)




Which of the following ordered pairsis a solution of the system?

21. A-8x-10y=-5
—-6x+2y=3

[A] bo.s, o.7g [B] bo.7, —o.3g




Which of the following ordered pairsis a solution of the system?

22. p—-2x-5y=7
2x-10y=-5

[A] ) 32, —OJg [B] ) 01, —3.zg




Which of the following ordered pairsis a solution of the system?

23. p—-3x—-9y=8
10x-7y=-8

[A] h12, —o.sg




Which of the following ordered pairsis a solution of the system?

24, pA7x-3y=-9
- X+6y=-9

[A] 21 -1 8] J-21 18]




Which of the following ordered pairsis a solution of the system?

25. p9x-8y=2
IXx—y=-1

[A] )02 - o4 [B] )0

[C] )02 05 [D] oz, - o4




Which of the following ordered pairsis a solution of the system?

26. p—x+6y=4
—-3x-5y=2

[A] loa, —14 [B] ) 14, -04]




Which of the following ordered pairsis a solution of the system?

27. A-10x—2y=-6
IX—4y=-2

[A] loa, —11] [B] loa, 1]




Which of the following ordered pairsis a solution of the system?

28. p9x-y=8
-10x-9y=7

[A] lo7, 16] [B] loz, -16]

20, $—3x—2y:—1 [A] (06,10) [B] ((9.6) [C](-58 [D] (3,7
2x+5y=30

30, $4x—3y=—24 A] (1.3 [B] (7.2 [C] (-3,4) [D] (-4,6)
7X—6y=-45

31, $8x+4y:—20 [A] (4,-10) [B] 2-9) [C] (L-7) [D] (-2,-11)
—6x—8y=60

32 $5x+ 7y=0 A] (7.-5)  [B] 6.-3)  [C] 3.-7)  [D] (9,-6)
3x+4y=1



Which of the following ordered pairsis a solution of the system?

33 $5x+ 6y=48  [A] (8 2) 8] (2, 1) [C] (5,5)
6x—7y=15

3. Rax+sy=20  [A] (8,0 B] 11,-3)  [C] (5, -4)
X—2y=67

35, $8x+ 3y=50  [A] (3,8) [(B] (6, 5) (] (4, 6)
2x+5y=38

36. $—2x+ 7y=65 [A] 06,6) [B] (125 [C] (-8.7)
4x+5y=3

37. Rsx—8y=36 [A] 0,—4) [B] (4-2) [C] (30

38. R 7x+4y=51 [A] (-5,4)  [B] (33 [C] (-9,2

—6X+6y=54

$—8x—3y=—26

Solve by graphing. Round approximate solutions to the nearest tenth.

y=-3x+14
39.
y=2x-1

40, $y:x
y=-4x+5

y=X+7
4].
y=4x+22

[D] (6.3)

[D] (9,-2)

[D] (0, 4)

[D] (-9, 9)

[D] (6,-3)

[D] (-6, 6)



Solve by graphing. Round approximate solutions to the nearest tenth.

y =2X
42.
y=-3x-10
= 3X—
43. $y x=3
y=2x-1
=4x-14
w §o
y=x-2
=-3x+1
45 gy x+10
y=-2X+5
= 4x—
46. $y x=3
y=X+2
=3x+1
47 y=3x+15
y=4x+19
=X+7
48. y=xr
y=2x+10



